|sotope problem

Given the information in the mass spectrum below:

(a)

Calculate the relative percentage abundance of each of the isotopes.

(b) Calculate the atomic mass of the element
(¢) Using the information from (b) identify the element.
(d)  Explain why the mass /charge ratio in most cases is the same as the mass of
the isotope.
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2. Given the information in the mass spectrum below:
(a) Calculate the relative percentage abundance of each of the isotopes.
(b) Calculate the relative atomic mass of the strontium sample

The mass spectrum of the clement strontium
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